Name:

(Multiply by és )

Skip count by 6s.

Op{épl Pl P P

Complete the Input/Output Table.

nput | 51 6|1 3| 7110192 ]18] 0] 2

Output

Rule: Multiply by 6

Preview

Please log in to download
the printable version of this worksheet.

Compare. <K, >, or = What fact is shown by the illustration?

7x6 [ ] 48 oo 0000|0000

A e AR AIRAR 2 IR 2
adIRd IR IR IR

54 ] 6x9

ox2 [ ]3x9 X =
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ANSWER KEY

(Muttiply by 6és )
Skip count by 6s.
0P 6 PI12P18P(24p{30p|36P|421548>(54 (60

Complete the Input/Output Table.

nput | S |16 (1T 371109280 2

Oufput |30 |36 | 6 |18|142]60(54|48| O

Rule: Multiply by é

Preview

Please log in to download
the printable version of this worksheet.

Compare. K, >, or = What fact is shown by the illustration?

7x 6 [<] 48 PPN | PN | PO | PO | PO
PO PO PO POY] POY

6X4 < ]6X%5 PO PN POY | POY | POS

54 =1 6x9

9x2[<]3x9 b X = 30
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